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/l Impedance Distribution Measurement Function
int[] MeasureImpedanceDistribution(1

int pin,rcv,stoptime;

int[] imp=new int[ELECTRODE_NUM];

myPort.write((byte)PC_MBED_MEASURE_REQUEST);
stoptime=millisO+10; //wait 10ms
while(stoptime>millis();
rcv = myPort.read();
for(pin=0;pin<ELECTRODE_NUM;pin++){
rcv=myPort.read();
implpin]=rev;
H

return imp;
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void setupOt

~

impedance_offset = MeasureImpedanceDistribution();
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/Ipresent rotating point

x=0.7*cos(theta);

y=0.7*sin(theta);

theta+=0.1;

for(pin=0;pin<ELECTRODE_NUM;pin++){

if((x-Electrode_Pos_X[pin])*(x-Electrode_Pos_X[pin])+(y-Electrode_Pos_Y[pinl)*(y-
Electrode_Pos_YI[pinl)<0.07)1
stimulation[pin]=40; //Pulse Width in micro-seconds.
telsel

stimulation[pin]=0;
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AreaSize=0;
CoGX=0;
CoGY=0;
Sum=0;

impedance = MeasureImpedanceDistribution();

for(pin=0;pin<ELECTRODE_NUM;pin++){
ifimpedance[pin]==-1){//avoid serial transmission error.
impedance[pin]=prev_impedance[pin];
telset//average previous data to avoid noise
int tmp = (impedance[pin]+prev_impedance[pin])/2;
prev_impedance[pin]=impedance[pin];

impedance[pin]=tmp;



T L7eA v = o AT — %%, BIRIOFHHFEREFH L TWET. Zhickv %)
A REAK L TVET.

FFHIT — 2039 FBESNBEWEEEZIRY ECD) TR LT, Z08HAITREOT —
BEfED XL TWET. TS bARITERRENRD £ THTUTLIWIET TR,
Processing ® ' U 7 /LG ICEHA L TWRWDOTAREIZZOFEX HFIT/D £ L.

for(pin=0;pin<ELECTRODE_NUM;pin++){

impedance[pin] = impedance_offset[pin]-impedance[pin];

ifGimpedance[pin]>IMPEDANCE_THRESHOLD){
/limpedance[pin]-=IMPEDANCE_THRESHOLD;
AreaSize++;
CoGX += Electrode_Pos_X[pin]*(float)impedance([pinl;
CoGY += Electrode_Pos_Y[pin]*(float)impedance[pinl;
Sum += (float)impedance[pinl;

telse ifimpedance[pin]<0){

impedance[pin]=0;

H
if(AreaSize>AREASIZE_THRESHOLD){
CoGX /= Sum;
CoGY /= Sum;
telsel
CoGX=0;
CoGY=0;
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